= x
AUS =

EGC-120- -BS-KF

HME HS: 556809

CIO|E{ A|E

43
HA

FESTO

50 mm...2500 mm

INES 120
ATSHZ 25mm
F=PNE=PN ol grek
710|E Mgt & HIod 7tol=
=P 217\ AIA U =
et s A2 Lot
ZHER A" ZE
ME 2E
AES ERY 2 23%7
K WM F5H pE S22
x| 7t& 15 m/s?
ESui = 0.6 m/s...1.5m/s
HHE Mstr +0.02 mm
FEIAOIZ 100%

F

,_
=
o
(%]
il
ot
0x

VDMA24364-B2-L

B35 85 IP40

FHERE -10°C...60 °C
CHH 2K DHIE Iy 5010000 mm*
CHH 2K DHIE |7 5820000 mm*
ACH & Fy 6890 N

A& Fz 6890 N

| & Fy ®A| = 6890 N

o & Pz MM = 6890 N

O|2X £ 100km0i| CHEH Fy(&4- 7H0|E 1) 25383 N

O|2X £ 100km0i| CHEH Fz(z=4= 7I0|E 113) 25383 N

|0 E3 Mx 144 Nm

A|CH E3 My 380 Nm...680 Nm
A E3 Mz 380 Nm...680 Nm
Z|CH 2HIE Mx ©H| = 144 Nm

|0 ZHIE W WA = 380 Nm...680 Nm
Z|CH RHIE Mz &= HA| 380 Nm...680 Nm

2025.2.13 -#HZAE 4= AS - Festo SE & Co. KG



£ ax

O|2X 43 100kmOi| CHEF Mx(22 7}0|E 113) 531 Nm

O|2X £H 100km0i| CHEH My (&4 740 & 115) 1400 Nm...2505 Nm

O|2X £ 100kmOf| CHEE Mz(2=4= 7}0|E 112) 1400 Nm...2505 Nm

E20| 2 AFZEO|| 2hdiste |0 B 2hak g 500N

Z|CH 0] 53 Fx 1500 N

HIE8 28 ZHE |t 1430000 mm*

OJE| AE2 A5 22k 2 DHIE JH 2.756 kgem?

0| & &b 10 mm/U...25 mm/U

&x 2 5000 km

SYL U 3L oz M5

QI 24 AXH CHX U201 3
&= Hel

A HARRF ATH CHE 20| 83
&= el

T2Ip AXY CHE U201 B3
Ot C}O|ZE

AXH 2+ £HD ARSH RoHS &=

E2t0|E FH AXH CHX AR0|E S
&= el

70| £2}0| = ARY 7=

7H0|E 3| AXH Pags

£810|E AXY T AR0|E 83
&= He|

2US HE AT PTey

ATE ATY g

2025.2.13 -#HZAE 4= AS - Festo SE & Co. KG




